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8 Algebra CC
Essential Question: How can we represent a linear relationship symbolically from a graph?

’ Do Now:
" The graph pictured to the right shows the relationship between the fees Catering Fees
| .

charged by a catering company and the number of people served..

a) Calculate the rate of change and identify the y-intercept. Write
an equation that represents the linear relationship.
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b) What is the meaning of the y-intercept and the rate of change in
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Think about this...
Linear relationships can be represented symbolically by creating an equation in two

variables.
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1) Worite an equation to represent the linear relationship shown by the graph.

What does the y-intercept represent?
What does the rate of change represent? Fuel Level in Car Tank

x Y
(h%) {s_v_. = 2._(_)_-:2. —_ ,‘2: : ¥ 54J 5 V j ] ?M_{
(4,20) v mel Tl o PReElo 3 - |
I+ Jakes | minvte to put 1o 3 16 |
4 gallond o 9as. N e .
=5
ot R |5
gad. o e s
Time (min)

b’z 4x+‘f—J




2) Write an equation to represent the linear relationshi

p. What does the y-intercept r'epr-esem?
What does the rate of change represent?
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Interpreting X and Y-Intercepts of a 6raph

3) The graph below shows the relationship between time and miles as Josh leaves his cousin's house
to travel home.

y  JOSH'SCARTRIP

\w0)

a) Identify the y-intercept of the graph.
What does it tell us in the context of this situation?
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b) Identify the x-intercept of the graph.
What does it tell us in the context of this situation?
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¢) Use the intercepts to calculate the rate of change. house ( Josh 14 hem
What does the rate of change tell us in the context of this situation?
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e) Using your equation, determine how IOEEJ osh has been driving when he is 52 miles from home.
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